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1. The term "inverse demand curve" refers to
(A) the demand for "inverses.”
(B) expressing the demand curve in terms of price as a function of quantity
(C) the difference between quantity demanded and supplied at each price
(D) a demand curve that slopes upward
2. Assume the price of a movie is $10. Jenna demands 2 movies per week, Sam demands 3 movies
per week, and Jordan demands 8 movies per week. From this information we can conclude that
(A) Sam is irrational compared to Jenna or Jordan
(B) Jordan is obviously more wealthy than either Sam or Jeanna
(C) the movie industry is unprofitable.
(D) the market quantity demanded at a price of $10 is at least 13 movies per week
3. A vertical demand curve for a particular good implies that consumers are
(A) not interested in that good
(B) irrational.
(C) not sensitive to changes in the price of that good
(D) sensitive to changes in the price of that good
4. If the demand function for orange juice is expressed as Q = 2000 - 500p, where Q is quantity in
gallons and p is price per gallon measured in dollars, then the demand for orange juice has a
unitary elasticity when price equals
(A)$0
(B) $1
(C) $2
(D) %4
5. On a linear demand curve, the lower the price,
(A) the elasticity equals -1.
(B) the less elastic is demand.
(C) the elasticity equals zero.
(D) the more elastic is demand
6. Convexity of indifference curves implies that consumers are willing to
(A) settle for less of both "x" and "y"
(B) acquire more "x" only if they do not have to give up any "y"

ne,

(C) give up more "y" to get an extra "x" the more "x" they have
(D) give up more "y" to get an extra "x" the less "x" they have.
7. If the utility function (U) between food (F) and clothing (C) can be represented as U = NFxC

the marginal rate of substitution of clothing for food equals

(A)-FIC  (B)-CF  (C)-NCF  (p)-~JFC
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8. An inferior good exhibits
(A) a decline in the quantity demanded as income rises
(B) a downward sloping Engel curve
(C) a negative income elasticity
(D) All of the above
9. What is the primary difference between the substitution and the income effect of a price change?
(A) The substitution effect holds income constant and the income effect holds utility constant
(B) The substitution effect is always negative and the income effect is always positive
(C) The substitution effect holds utility constant and the income effect holds prices constant
(D) The substitution effect is always positive and the income effect is always negative
10. Isoquants that are downward-sloping straight lines exhibit
(A) a decreasing marginal rate of technical substitution
(B) an increasing marginal rate of technical substitution
(C) a marginal rate of technical substitution that cannot be determined
(D) a constant marginal rate of technical substitution
11. Let the production function be g=ALaKDb. Returns to scale are equal to
(A)a+b @®B)La+Kb (©a*b ((D)A*L
12. Suppose the short-run production function is q = 10 * L. If the wage rate is $10 per unit of labor,
then MC equals
(A)g/10 B)g (O (D) 10/q
13. Assuming that w and r are both positive, if the long-run expansion path is horizontal, then
(A) MRTS is a function of capital only
B)w=r
(C)MP=0
(D) All of the above
14. If all conditions for a perfectly competitive market are met
(A) firms demand curves are horizontal
(B) the market demand curve is horizontal
(C) firms face sunk cost when entering the market
(D) the firms' demand curves are downward-sloping
15. Producer surplus equals
(A) total revenue minus total variable cost
(B) profit plus fixed cost
(C) total revenue minus the sum of all marginal cost
(D) All of the above
16. Which of the following is not a potential result of a price floor?
(A) Price greater than free-market equilibrium price

(B) Excess supply
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(C) Lower quality inputs are used which increases marginal cost
(D) All of the above
17. If a society only cares about efficiency and not equity, then
(A) all points on the contract curve yield the same level of social welfare
(B) it will not rely on competitive markets to allocate goods
(C) an equitable outcome is impossible
(D) it will maximize the utility of its worst-off member
18. If a monopoly discovers that the demand for its output has become more elastic at the original
output level, then it will respond by
(A) setting a lower price
(B) producing more while leaving price unchanged
(C) producing more and setting a higher price
(D) setting a higher price
19. The producer surplus to a monopolist must be
(A) positive, otherwise why would the monopoly produce?
(B) at least as great as the producer surplus in a competitive market.
(C) less than zero or the firm is in violation of anti-trust statutes.
(D) the same as for a competitive market.
20. A perfect-price-discriminating monopoly's marginal revenue curve
(A) varies for each consumer.
(B) is the demand curve.
(C) lies below the demand curve.
(D) is the same as the monopolist's marginal revenue curve.
21. Airlines offer lower prices to vacationers than to business travelers because
(A) of government regulations requiring them to do so.
(B) business travelers are less flexible in their travel plans than vacationers are.
(C) airlines know that business travelers enjoy flying more than vacationers do.
(D) business travelers do not care at all about costs.
22. A typical firm in a cartel will hold which of the following attitudes?
(A) If everyone cheats, I'm better off, and so is everyone in the cartel.
(B) If I suspect others are planning to cheat, I'll do best for myself by deciding not to cheat.
(C) I can never do better for myself than following agreed-upon cartel rules.
(D) If I alone cheat, I'm better off; if everyone cheats, I'm worse off.
23. Suppose a market with a Cournot structure has five firms and a market price elasticity of demand
equal to -2. What is a Cournot firm's Lerner Index?
(A1 (B)Y02 (G0l (D)yo.s
24, A strategy is dominant if
(A) the player cannot gain by changing strategy, assuming that no other player changes strategy
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(B) it yields a greater payoff than any other player receives.
(C) it is part of a Nash equilibrium.
(D) it yields a payoff at least as large as that from any other strategy, regardiess of the actions of
other players.
25. If a Cournot duopolist announced that it will double its output
(A) the other firm does not view the announcement as credible.
(B) it becomes the leader.
(C) the other firm will double output also.
(D) the other firm will shut down.
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